NEILSEM;

MEGA TOOL CABINET
CT4345 (14905

ORIGINAL INSTRUCTIONS



1. Two people are required to finish the assembly.

2. Throughly read all instructions before starting assembily.

3. Read, understand and heed all warnings and safety instructions.

4. Plan to assemble the cabinet in the area where it will be used.
Once fully assembled, the cabinet is difficult to move.

5.Wear proper eye protection and other applicable safety equipments while assembling.

Image Q'ty Description Image Q'ty Description
2 Tall cabinet . 1 5 drawer cabinet
1 4 drawer cabinet . 1 2 door cabinet
3 Top box 6 Perforated panel
1 Hex key - 8 Tall cabinet shelf
1 Door cabinet shelf tcs R 2 500mm baseboard
2 600mm baseboard g ] 3 680mm baseboard
4 1890mm posts m 1 MDF board
20 Adjustable legs v 20 Fixed legs
36 Shelf holder (l:- 75 M5x12 bolts
a3 omvrosion S 6 M4x20 screws
1 plug contact 3 Lamp tube
6*100MM Hook A-3
5*3 6*75MM Hook A-2 ﬁ 5 23*55mm Hook C-1
6*50MM Hook A-1
6*100MM Hook B-3
5'3 | 6*75MM Hook B-2 g 2 390mm Hook F-1
6*50MM Hook B-1
2 Hook E-1




1: Install adjustable & fixed legs under tall cabinet, drawer

cabinet & door cabinet by M6X12 bolts.

2: Place tall cabinet, drawer cabinet & door cabinet in desired

order.

3: Install 4 posts at the rear of the units by M5x12 bolts

4: Install 6 perforated panels by M5x12 bolts.

5: Install 3 top boxes by M5x12 bolts.

6: Assemble MDF board & baseboards by M5x12 bolts.

7: Fasten interior of tall cabinet to MDF board by M4x20 screws.
Fasten the rear of each post to MDF board by M4x20 screws.

8: Set shelf holders & shelves in doors.

9: If floor is uneven, please adjust adjustable legs by using hex

key to desired height.




CANNON TOOLSLTD
Add: 20 station road, Rowley Regis, west midlands,B65 0JU.U.K.
Made in china




